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KRz 267 124 143 Kg [&) 1,188 130| & 4,860 216
BBt 1,210 1,210 Kg TiE 1,566 555
BiEILED 161 161 Kg R 1,728 130
RO LD 11 1 10 Kg & 756 =4 5,400 3,024
&HiEF 8 121 121 Kg BE 2,916 720
BN T= 1 1 Kg |EE 1,080
EE3 178 19 159 Kg |E&E 1,728 1,404 | 3,780 540
AhlFE 8 4 4l Kg |EE 972 324| & 1,405 1,404
1=z 437 196 241 Kg |BE - =4 2,800 215| =4 3,024 1,404
HIES < 23 14 9] Kg |[BE 3,564 2,160|&Ex 3,780 3,564
BEX O 43 43| Kg iR - Rig 9,000 5,000
BIEN AIED 227 227| Kg s 2,322 756
Wbl 300 300| Kg B 400 300
W L 68 68| Kg FfE 459 324
g 710 710| Kg BE 1,086 173
SAE 344 344  Kg b 2,160 756
ANSED 275 275| Kg =8 1,512 324
TBHLN 35 35| Kg 1= 1,037
FALD 328 284 44 Kg |EIH 3,780 2,322k 2,268
=37 158 158 Kg =) - 2,214 1,100
O 204 204| Kg B 432 108
EHRLECH 311 26 285| Kg |F=E 1,512 E=Di] 1,998 1,080
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303[A 27z 518 518| Kg R 500 144
305|xAah>0b 1 1 Kg =) 2,700

306|Le &Y 15 3 12| Kg |RI& 753 i 1,620 1,080
315|7: b5 6 18 18] Kg 'S 2,808 2,160
3191 h o 362 79 283 Kg |EE 756 130|RIE - & 1,300 972
332|115 WA EF 128 128] Kg i 2,916 1,728
3BlHHY 65 65 Kg FEE 6,264 3,132
3541 <Y 22 22| Kg =) 2,376 1,404
3/5|HEY) 80 80| Kg timE - P E 1,188 600
356|L LA 15 15| Kg SER 1,080 864
3577/~ E 2 2| Kg e 4,104

362| & 22 22| Kg FJE 3,024 1,620
4025 E 5 5| Kg FAN 5,616
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RN L 117 117| Kg F 1,450 540
R 2O 517 517| Kg FA77 2,472 1,000
BRECEZV 42 42| Kg & 1,728 1,260
S @A AR 110 110] Kg JtF 1,050 950
Gl 96 96| Keg F 1,264

MR Z 274 2741  Kg 3 2,150 680
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701BbY DA 199 199 Kg & 3,240 1,404
704|Lh LEF 294 294 Kg N 594 486
705|7=2< Y 149 149 Kg PN 3,707 2,916
709|Lb LALF 10 10| Kg A 1,296
710|195 2 AF 191 191 Kg PN 1,404 702
755|FH L 9 9 Kg FEE 728
76lbYBAZELE 6 6 Kg & 2,121
8011 = 1F 434 434 Kg bFE - EmA 1,728 1,150
805|E = 1X 46 46 Kg JbiF 972 691
807 [1BHDF 10 10| Kg JbiF 2,700
810|BAKF 529 529 Kg JbiF 2,835 1,404
8lh|—W T AX 68 68| Kg blo ] 1,728
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